IB Math 3: Sequences and Series

e

i G
.

iy L

Name:

7
Warn Up:

valuate j‘——-—-——— v [}=
X / % u Loa Wi
2 3 X = 2 % & g

B

s

| i
Au = dx

i,

Period:

i

i v # i 5 I
o M As00 [ o
g/J fg é{@w 3@” . - i .
( [ ! g, x=4 U=<
m,.j;% @;%zg {0 % 7 !Zﬁ Ve U éf }i %{i}
Yt ﬁ/;\
) L
b e
§ %/w\ g”% sy ‘ ?Z%: %% éz
= Moo ¢ / | B %

j s
kR

# .
ot ®

o &

¥
gﬁ% e | @?ﬁ% %

L
P

peages
o L
Infinite Series: S, =& +a, +a; —————— = Z(an)
n=0
1. Geometric Series:
; oa(l=r"y o a
limS, = lim- = —L where |r| <1
NS>0 H<20 = ] 48
lim S, = diverges where lrl 21
Ny n
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Example 1) Show that the series Z — |converges.
n=l 5
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2. Sigma Notation:
Write each series in sigma notation:
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2. Telescoping Series: limS, = (b, —b,)+ (b, = b)) +(b,—b,)—————— =b, ~limb

Notice b2 is canceled by the second term, b2, b3 is canceled by the third term and so on. So a telescoping
series will converge if 11mb .1 converges.

Example 1) Given the series 2(41; 1)

a. Use partial fractions express;

> = A -4 B : ém% g:::, W%
4k -1 2k+1 2k-1 i
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into the telescoping form.
ﬁ_l 2k -1 2k +1 |
c. Express lme i-—i— ——e
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Practice) Evaluate the telescoping series, Z(-]?i-];j Jfor the convergence and find the sum if it
k=1 +
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